LAfsfl* LEaaiay &AL 5= §1* ICPE » O,
9scem ~ SFg 100scem > 4 %] 484 38k 2 7 fa [f] > A2 %) 18 2 FlH 3
B5E 100pum > FH B E G5 3Bum > AINAFE X 5 44um > [
L AFIES 5 Soum> HIRFE W N5 1:227 F [ERERAES T AL
d 7 ArSFof B4R (AR 2 EH " HEERFRT 2455 (%
ok

500rpm ~ 5sec ; Step2 : 1500rpm ~ 30sec) > *&.% {4 2. F W B B 4 4
2582um e M EVR S NGB FREEY RESEFRIEE A e 73
Jald2 s %%’FJ W~ O, 5seem » £ %] PER 160sec > £ 7| &5 3 > H &%)
55 0.625um/secse @l i = =2 3L HA/PLLAE - > &5 1T i
g,
(HErR=3 -
(2)34 J= % ] s B pE- R o
(3) 5 4p 3 @il 2 3 o

3. % 42 HA/PLLA EH5E 72 $4p 3 1576 3% R IE P S A
fwfe 3t HA/PLLA &%z = & 725> & 14 SEM K38 {7 fm e 2] i LR o
% 2hr pRlmre f &R~ 3L F 0 T F S IVF A B - o] IhAS 0 N F PR
E vk R B2 mreAs kAR 5 0 24hr (5w R B E W B
HA/PLLA E%- 5 22 3 fAp g fh o i BR A w2
Plmre E RN E B ML 2 TV o

69



52 A kBB

1L Hoiz s 4R N8 g 53 HA/PLLA Eo > g2kl i2 g v U
BT EWT A RIEH I 2 Ed @2 R dlii-m
FORE LR B H > P Z A RT A 2 A 2 B g
HE2 A FEEMRL AR A

2ICPR Y # 7 3 is2 Hi0i= o F5d SFof #2248
ES LIRSS A S PEU I i L e A
B o

70



